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1' uQ,sl .Ks;h 

1. 2x   3y  4x 5y -4 

2. 4x2  3x  7  x2 -5x -2 

3. 4(2x -5)  3 (x -4)s 

4. 2x (4x -5) -2(3x -5) 

5. 2 {3x -4 (5x 3)  2} 

6. 4 [ 3x  2 {2  (3  4x)}  2] 

7. (x  2) (3x  4) 

8. (4x  3)2 

9. (3x  3)2  -  (3x  7)2 

10. 5(x  4)2  -3 (4  3x)2 
 

1.        3x  4 = 5x  2                                                       

               2.         4(3x  1) = 7x  6 

                       3.         5x  3 { 2  (x  3)} = 11 

               4.         3x  1   = 1  1 
                                    x  1            3 
 

                       5.        4x  -  5x   1 =  1 -  x - 1   
                                    3          2                   4 

 

1.   3x  y     =  11    7.     2x  y   =  x  2y  1  =  2 

                 2x  y     =  4         4                 3 

 
       2.      3x  2y    =  3    8. x y     =  2 
                 x  2y      = 5                         y  z    =  3 
   sz  x  =  9 
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                     3.      2x  3y     =  11                                      9.          2x  y  z      =  2 
                               -x  2y     =  12               3x  2y  z    =  -1 
                x  3y  2z    = -9   
   
                     4.      2x - 3y      =  19                        10.       1 x  2y  z    =  7 
                              6x  2y     =  24                                                         2 
                       x  y  2 z       =  1 

            3 
              x  y  z          =  8 

         5.      9x  11y    = 15    
               7x  13y    =  25    

     
      6.     x  y         = 3                                                     

               2     3            
               x  2y        = 3  

 

 

1. x2  12x  32   = 0      7.    x2  4    = 0 

2. x2  7x  12  = 0      8. 9x2  25   = 0 

3. x2  2x    = 63      9. 20x2  125  = 0 

4. x2  x    = 110    10. x2   4x    = 0 

5. 12x2   = 15  8x   11. 5x2 + 3x   = 0 

6. 15  11x   = 8x(1  x)   12. 9x2  12x   = 0 

1. x2  9x  20  = 0 

2. 8x2  10x -3  = 0 

3. 2x2 = 5x  7 

4. 3x2 = 5x  7 

5. 12x2 = 25(x 2) 

(A) 
1. 5x  3 > 33 

 
2.         7x  5  5x  8 
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3.        4(3x 1)  10x  8 

 

4.        7x  2 (x  2)  15 

 

5.       7  2 (3  2 x)   1  5 x 

 
 
 (B) 
   

1.   3x  2y    12 
            2x  3y    12 
     
      2.   5x   
            4x   
 
      3.   5x  2y   10 
            3x  4y   12 
                      
                       
 
     4.      x  5 
                   x 
                   5 
  
     5.      2x   
                      
                       x  6 
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2' jHdmdr i|yd m%;sY;

(Mark up on Cost)  

% 

(Profit Margin)

% 

(Sales Tax)

(Sales Tax)

% 

(Discount) 
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%  

(Income Tax)  

%  

(Market up) 

i. 
ii. 

(Profit 
 Margin) 

i. 
ii. 

i. 
ii. 
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i. 
ii. 

 
15. XY VAT

?
?

 
16.

? 
 
17. ABC 3 : 5 : 4

18. A:B 3:2 A:C 2:3 B 11,000

19. A : B

C  A 

 

x 
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3' fY%AKs  
 

(Seqnence)
(Sscries) 
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 n
 a (Common Difference) d n

                  a, a + d  , a +2d  a  +  n  1  d   

           n

n n tn Term Tn

 
Tn   =  a  + n  - 1 d 

n

n  
Sn  

 
     Sn  =  n      2a + n   d  
                     2 
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l n

 Sn  
     

Sn  =  n  a + l  
                     2 
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2. 
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i.
ii.
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4. 
i.
ii.
iii. 

5. n 3n
i. 
ii. 
iii. 

6. 

i. 
ii. 

7. 

i.
ii.

8. 
m m 175m3

d
 

 n
 a 

(Common Ratio) r n

n-1 

 

 n Tn nTh Term
 

                                         Tn   =  ar n-1 
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n

n  Sn ; 
 
 

       Sn    =  a  rn -1   ;   r     1  
                       r  -  1 
 

 
 

Sn  =  a  1 -  rn      ;   r     1  
r 

 
 

r  = 1  r      1
S  ; 

 Sn    =  na                                             S    =       a 
                                                                                r 
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i. 
ii. 
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4' iq¿ fmd<sh (Simple Interest)

r

i.
ii.
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5' je,a ^ixhqla;& fmd<sh (Compound Interest)

- - - -

N
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-

i.
ii.
iii.
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2 2 . 
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6' j¾;udk w.h (Present Value)

PV - FV -
- -

                                                                                  

AB
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7' jd¾Islhlh (Annuity)

PV r n x

x    x                x                                                                       x

(0)    1                2       3                                                                       n

= 
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A. C.     

B.   D.     
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8' ksoka wruqo,a (Sinking Funds)
  

Funds

                                                                             

n

n

                             0        1               2                         3 ................... n-1       n

x       x                 x                      x                   x                       -

                            0        1                 2                            3                        4  ...................  n

x              x                       x                     x                    x


